www. hydrootvet. ru

—. PV2R RJ3H,

SRR = A R

PVZR SxiesVanePumpswithHigh Pressureand Love Naise
FEEfE A Products I ntroduction

PV2R Z 41 ey AR 75 7 S 3 2 m) S Sr el A )
A vERE b, RATPERESGRE, ZiMG B, RAETELE, MRS
fIC, WkEhB/N, BUE AR E RRF sl 7ok Tiilad, e alidE Y &
i FEARIR P e 5 O EESK, i T T UTRIA U, BRI,
SHUBR BRI TR

PV2R Series vane pumps with high pressure and lower
noise are high-performance products, which are developed and
domestically produced by our company, featured by advanced
performance, reasonable structure, good creditability, lower
noise, ultra-low pulse and stable quality and so on. Precisely
made, the product can be used in the equipment with high
precision and low noise, and is widely used in cutting, plastic,
leather, forging and engineering machinery fields, and the like.

#-S-Pi8 Model Code

RANMJr A

Series vane pumps

THRING
Code of subsidiary series:

1. 2, 3, 11, 21, 31, 32

MARE N A

Port positions (Viewed from shaft end):
BEE il 22 L ) L
Outlet of shaft end pump is set to be

PR EOU SR (1 il i 2 s PR

Displacement of single pump or double pump shaft

end pump mL/r

on the upper side

#h4% Shaft diameter:
Fi- K#f Magjor shaft
Heekhfh (rEm)

USRI ol S A A BRI

Displacement of double pump cover end pump mL/r

Other shaft extension form(omit)

XU P S 25 1

Tieke J7 ) NG )

Direction of rotation (Viewed from shaft end):
R— JWiEF4EF (hrifE, w45 1%) Clockwise (Standard, omit)

L — ¥4 Counter clockwise

Outlet of cover end pump:

A.B.EEFN.G.H.L.R

H D Inlet: AL B. L. R



www.hydrootvet.ru

www. hydrootvet. ru

FAIM Specifications
* . %% Single Pump

s JIRAREST
Max. pressure Speed IR 3
MPa r/min . -
e iR e R K I Th# )ﬁ.%
Model _|Displacement| gy | gioss | il a:@m7@ﬁ*ﬂmm<%mwﬁ Input  Weight
ML sl | R | W |Antiwear| | FLAGH V| B | e | power | kg
. : ater - |Phosphate| .
Speciad [Antiwear|Common| water Water-ail .| Min. | Max.
i . ; glycol _|ester fluid kw
ail ail ail glycol . lemulsions
. fluid
fluid
PV2R1-4 43 21
PV2R1-6 6.1 3.2
PV2R1-8 85 45
PV2R1-10 104 5.4
PV2R1-12 13 6.1
PV2R1-14 14.2 21 175 1800 | 6.9
16 16 7 7 16 750 8
PV2R1-17 16.8 (1200)| 7.9
PV2R1-19 194 9.6
PV2R1-23 23.3 105
PV2R1-25 24.4 12.5
PV2R1-28 284 14.0
PV2R1-31 29.5 16 16 155
PV2R2-17 17.7 7.8
PV2R2-26 26.6 11.7
PV2R2-33 32.8 155
PV2R2-41 41.7 1800 | 18.9
21 17.5
PV2R2-47 47.9 (1200)| 232 | 16
PV2R2-53 55.7 14 16 7 7 14 600 24
PV2R2-59 58.2 24.9
PV2R2-65 63.3 294
PV2R2-70 70.3 31.6
PV2R2-75 78.1 16 16 1200 | 35.7 17
PV2R2-85 82.7 375
PV2R3-52 52.9 23.2
PV2R3-60 64.3 29.4
PV2R3-66 67.2 21 175 1800 | 34.2
PV2R3-76 76 (1200)| 37.7
14 16 7 7 14 600 32
PV2R3-94 94.2 41.2
PV2R3-116 115.8 50
PV2R3-12 127 16 16
$125 1200 5
PV2R3-136 1325 57

o A . PUB UK O BRI S 2 0L 10 1T
Grades of Special oil and Antiwear water glycol fluid, see page twelve.

-2-



www. hydrootvet. ru

LAFRHEE 4, “67, “874¢%, [ Jifil 16MPaffi I, vkl 1450r/min.

2.1E i B A FH O P A AR N RO I, Nk D IR T L

3. C ) AIRE A A IR MR VBURT 2 7K S R T Ao

AN TR ESRARIE 5 113, AR F 1000r/min.

5. LAEWCH BB ARVR N, DR TR EER R B GRS, 1T B I 7E g 58 84 5 i
InEF-.

6.9K 5 T FIEAE P=16MPa. n=1500r/min (] &% Ko

g’/
[/
oo

Note: 1.When pressure of pumps exceeds 16MPa, with displacement of “4” “6” “8”, ,
speeds should be more than 1450 r/min.

2.Reduce the negative pressure of the inlet when the Single Pump or double
pumps with large displacement at high speed.

3. The numerica number in bracket is the one using phosphate ester fluid and
water containing hydraulic fluid.

4.Speed at 1000r/min is suggested on occasions with lower noise strictly required.

5.When the working fluid is phosphate ester fluid, it uses special sealing (FPM),
Prefix [F-] to the specified model when ordering.

6.Input power is available in working conditions of 16 MPa and 1500r/min.
& XU Double Pumps

RRING Hhim AR AR i A A
Series Displacement of shaft end pump Displacement of cover end pump

PV2R11 | 4. 6. 8. 10, 12, 14, 17, 19, 23, 25, 28. 31 | 4. 6. 8. 10. 12. 14, 17. 19, 23. 25, 28, 31

PV2R21 17. 26. 33. 41. 47. 53. 59. 65. 70. 75. 8§ 4. 6. 8. 10. 12. 14, 17. 19, 23, 25, 28, 31

PV2R31 52. 60. 66. 76. 94. 116. 125. 136 4. 6. 8. 10. 12, 14, 17. 19, 23, 25, 28, 31

PV2R32 52, 60. 66. 76. 94. 116. 125. 136 17. 26. 33. 41. 47. 53. 59. 65. 70. 75. 85

-3



www. hydrootvet. ru

ZIEERE R ST Install Connection Dimensions
O 4 Single Pump

¢ PVZR]' 106 58 | 25 39
| - RN |
@L o | ] u 2
8 Iy L <o
N S _ N T I
—
H [ —
7
B i % =X 8
sha+ft extr;nsion A B H L C:r?
F $15.88[3.97 |17.68 |25(BA )| | %% :
Fr b 19.05/4.75 |21.24 | 28(AKIEE) Py
/ " \4-M8x15
4-M10X 18 I

76 . 28 50

72
| 72
(G
]
w
N
A.03

140

174 214

$ 36 $ 20 ‘
U ¥ NE He 1 -1
Inlet Outlet —

shffﬁijqjeﬁ;tfeES ion A H og
F $22.22| 25 Q- o
Fi $25.4 | 28.18 §
©

/ E 4-M10X18

R il LE LA

4-M10X< 18/ |_ 30 13
22




www. hydrootvet. ru

¢ PV2R3
181 90 i 33 66 -
o
| ———— N I
T | ]* :
2-$18 i 0 a0 | ®
- L - _ N I O
N~
H -
213
R §
<
4-M10X< 18
L |\aoabxde
4-M12X 21 43 LT
30




www. hydrootvet. ru

O XUk 4E Double Pumps

¢ PV2R11 - 8 s g

—

IR, |

116
|

58
62
58
e G
I
N
[e]

[
$19.053 5

269
16 $ 40 ¢ 16 12, 7
Hed 4 W He o —
Outlet Inlet Outlet -1
D\ P |
‘ A .
TR - H-==t g 3
v &
i S
\ & %& ‘
e 1 17.5 35.5 j& 4-M8X 15
4-M12 X 21 175 =

117 82 50

I
-0. 03

72

1 i

0

306
$16 $50 »20 15 _9
E BTN w\u\ ﬁtﬂm\ }L
Outlet Inlet Outlet |
- A

@\

4

\

|

EW 4-M10X 18
225

$101.6.0 o5

a,
W

EEICTIZEY
shaft extension A H
F $22.22 25
F1 $25.4 28.18




www. hydrootvet. ru

¢ PV2R31
181 124 ‘ 100 ‘ 33 66 .
! I — oz?'
! ‘ NEY i 1 o
Y et q ] 3
g £ 2 o
352
® 16 ¢ 75 ¢ 25 9. 9
RO WA Hmm\
Outlet Inlet Outlet i
i
e 19) | o 1B
[e0) \C—>| o 1\'
S N =8 q
© T <
4-mg <15,/ 4 ™
17.5 [ i
4-M16 % 25/ \ﬂ:, 4-M10x18
¢ PV2R32
145.5 i 100 - 33 66 a
T T 5
0 §$ {7 0o j* -
5.7 : w0 E

= tf I

213 376

b 20 ¢ 75 ¢ 25

[He o WRAH HE e H —
Outlet Inlet Outlet -

106

$127.0 o5

4-M16 X 25 62

— wi 4-M10X18
30,



www.hydrootvet.ru

